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note: at the beginning of our discussion, a dispute A1 “1/0™1 is alluded to: they disagree about the “threshold” of por; 0”1 holds that it is
yononce the outside of the dough gets “silvery”; 1117’ *1requires that there be pits in the dough
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I ’» mwn: rule of nx¥n (and exceptions of ynn) for nnn
a  rule: all mMin are made as mxn
i source (»px "): for those not explicated, v. 1 is followed by v. 2- Y3rn mxn
1 challenge (87779 *9): perhaps this is only mxn%; what ist he source for 2120y?
2 answer: v. 3 explicitily prohibits nnin yinn
(a) challenge (n”): perhaps ynn (total) is 1O, but MNW (some y1'N) is permitted
(i) question: which form?(see note) — n"1’s form is considered nxn for »™; »"1’s amount is considered full
ynn for n”; n”’s amount generates man for n”; must be 1’s amount for >
(b) challenge (»7237): perhaps v. 3 allows for vV1on (putting dough in boiling water)
(i) block: vi9n is the same as N21271 (one form of nmn); if it states nN117, that is the proper way to make it;
if not, it is invalid
1. defense: perhaps where it isn’t stated, that’s still an option
(c) challenge (82°37): perhaps v. 3 just establishes a 8% (for leavening) but the nnin is not invalid
3 rather: .4 —nn n¥n fixes it as an obligation
ii  suggestion (87779 *7): source for kneading mmn in tepid water and guarding them from y1’n — v. 5; from noa mixn
1 response (’n8 77): v. 4 °nn nxn is both 12p% and for nvnw (from m’nn — could’ve been &)
exceptions: ynn set of NN 'nnY and onn 'nw — which are ynn
¢ method of making ppn for the two exceptions:
i pn”r take “starter yeast” from dough itself
ii /7 7 this is inferior leavening; rather he brings yeast and puts it in the measure (as part of N7wY)
1 response: that may also be under- or over-full (depending on denseness of dough with m1xw)
II  Aggadic interplay with 1327 and 8119 "1 (vv. 6-23), including interpretation of aphorisms about nr ,210 , 77,718
a  related: pny> "'s homily about nmar (God’s friend) pleading with 'n after wTpnn ma 1290 (vv. 11, 24)
b related: X958 92 R1Nn *7’s homily about impact of the n%31’s report (v. 25)
i tangent: Yo "1 explains why Y%7w> 0y are compared to an olives tree
1 tangent: 13y "7 has a further application of that comparison
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